PaunoHarnbHble BbIMUCIIEHNS.
Teopema l'lndparopa

BoinonHuna: AkbytnHa A.M.



b=4

Teopema l'Nugparopaa’+b2=c2

C=5

a=3

NaHo: A ABC, £C=90° a=3, b=4
Hantu: ¢

PeweHue:
C2 — a2+b2
c? = 3%+4?
c2=9+16
c?=25
c=5

OTBeT: c=5



[ lndparopoBbI TPOUKA
. a | b |

3 4 5
5 12 13
6 3 10
7 24 25
3 15 17
9 40 41
12 35 37

a’+b?%=c?






3agada 1

A
PlaHo: A ABC, £C=90°, a=6, b=8
10 Hawntun: c
613 5 PewweHue:
Ll 4
c 8 B ol
T0,
CBe=10



3agada 2

A
MaHo: A ABC, £ C=90°, a=10,c=26
26 Hantn: b
24112 13 PeleHme:
Bl 5
C 10 B —
TO b=12*2=24
OTBeT:

b=24



3agada 3

A
PlaHo: A ABC, £C=90°, b=30, c=34
34 Hantu: a
30115 1 PelieHune:
Ll 8 a2 | b | e
c 16 B ol
TO
R%eA=16

a=16



3agada 4

A
PFlaHo: A ABC, £C=90°, b=2,4 , c=2,5
25 HanTtu: a
2,424 25 PewweHue:
B 7. a2 | b | e
c o7 8 Ll
TO a=7+10=0,7
OTBeET:

a=0,7/



3afnada 5

A
MaHo: A ABC, £C=90°, c=34, a=16
T 34 Hawntn: b
30115 1 PeweHue:
1 8 a2 | b | e
c 16 B o
TO b=15%2=30
OTBeET:

b=30



3agada 6

PlaHo: A ABC, £C=90°, a=1,5, b=2
Hantu: c
PeweHue:

1,5 2 2,5




3agada 7

A
MaHo: A ABC, £C=90°, a=0,9, b=4
41 Hantn: ¢
40 41 PelieHue:
B 9 _a | | e
C 0 B — T % [
TO c=41+10=4,1
OTBET:

c=4,1



